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k„r^ - (1)

k„r^ 

   õhfk„r^    ìe„S>_k„r^ 

Al] Ap`Z¡ õhfk„r^ rhj¡ kdÆiy„. Äepf¡ õhf_y„ Å¡X$pZ k„r^_p r_ed âdpZ¡ \pe Ðepf¡ s¡_¡ õhfk„r^ L$l¡ R>¡. 

v$p.s. : v¡$i  +  Arcdp_  =  v¡$iprcdp_     kfMu Års_p õhf_y„ Å¡X$pZ 

  `fd  + Cðf  =  `fd¡ðf     Sy>v$u Års_p õhf_y„ Å¡X$pZ. 

  dlÒh_u õhfk„r^ _uQ¡ âdpZ¡ R>¡.  

 (A) A + A = Ap 

  (1) cph + A\® = cphp\®  (2) `f + A^u_ = `fp^u_ 

  (3) õ_¡l + A^u_  = õ_¡lp^u_  (4)  h©Ù + Ahõ\p = h©Ùphõ\p 

 (b) Ap + Ap = Ap 

  (1) dlp  + ApÐdp = dlpÐdp  (2)  s©jp  + Apsyf  = s©jpsyf 

  (3)  tQsp + Apsyf = tQspsyf (4) dlp  +  Apge  = dlpge 

 (L$) B + B = C 

  (1) frh  + BÞÖ  = fhuÞÖ  (2)  `qf  + Bnp  = `funp 

  (3) ers  + BÞÖ = esuÞÖ (4)  S>rs  + BÞÖ  = S>suÞÖ 

 (X$) C + C = C 

  (1)  _pfu + Cðf  = _pfuðf  (2) ep¡Nu  + Cðf  = ep¡Nuðf 

  (3) fS>_u  + Ci  = fS>_ui  (4)  `ph®su  + Ci  = `ph®sui 

 (C) D + D = E

  (1) cp_y  + Dv$e  = cp_|v$e  (2) Nyfy  + DÑd  = Ny~$Ñd

  (3) ky  + D[¼s  = k|[¼s  (4)  gOy  + DÑf  = gO|Ñf 

 (a) E + E = E

  (1) h^|  + Erd®  = h^|rd®  (2)  tk^| + Erd®  = tk^|rd® 
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